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Al X|tH =23 HEHH QACHHE ArjEZa| HAUCH=E
g8 1 LA TS 6881-3 |[HESHZOR75HZ 1 0 2167 52.14 5,641,000 102,390
LS 2 QAA| W&0ls 852-2 |+=HEZ50HZ 1 X 18.29 22.50 2,085,000 61,320
LS 3 QAA| L&0ls 852-2 |+=HEZ50HZ 1 X 20.15 24.79 2,275,000 67,840
LS 4 QAA| LAbE 398-1 SHAICH133H 2 2 X 32.63 38.81 3,603,000 135,200
LS 5 QA LAbE 398-1 SHAICH133H 2 1 X 28.99 34.48 3,224,000 119,830
LS 6 QAA| 40| S 858-12 |=HZ 2 0 3344 4157 4,122,000 153,270
LS 7 QAA| Li&f0|S 858-12 |=HZE 2 0 37.17 46.22 4,624,000 170,100
LS 8 HERA| MH |HMdel 143-2 =HAEE 1 X 19.44 23.21 2,179,000 59,660
LS 9 HERA| MH |HMdel 143-2 SHAEZE 1 X 20.48 24.46 2,275,000 63,210
LS 10 HERA| Mg |&S%te2l 68-6 Y EStE 1 0 23.45 28.46 2,639,000 91,290




